ZaDalh-(24.4.)
4C22£@‘ tolmecclztes

a) 56+x =4} @/) lo=X+/100
etx=1Y 6= X-+100
x=11-56 —x=100-10
l__‘x_i:_Ll_f_L_.J ""X 1“.f‘jo /.‘(“"})

[K=-30)

2 %u\ﬁim&“&

a,) 2X~J DK =5

5X=5x=3+5

o) IX-2+/M-Fx = 5% +4
Ix-Ix-15x =g+ -4/
~46X:13/3@45)

i e e

[x<o]

C’/) QKW}i :-3 Oé) ltll"g‘x ::/5‘
g, | 19-5% =15
ixzz--g/jl “‘3’<=’Ilf)"‘/]?

=5 X :Q-‘?. & [,5}

;X:ng

x4

&)¥¢'3+x=45>2x
Ir tx4+2x=15+9

10x =24 [190
m{ 22/ {2
=
.1{@5

fx?%

d) 16-11%—9=22—8x—25—L

—12xt Ex +hx=29-25-¢ +9
Ox=0 -
JEMNKesT Ox=C JE
TOENA UVRSTIMO L)

UNJESTO X BILO Koy

RAUONAN] Bpo ). To
ZNACT DA oVl JedNAD2BA
[MA BESKONACNO HmogQ
PIESENIA,



